

$$\begin{aligned} 1) \quad \frac{2\sqrt{12} + \sqrt{24}}{\sqrt{6}} &= \frac{4\sqrt{3} + 2\sqrt{6}}{\sqrt{6}} \cdot \frac{\sqrt{6}}{\sqrt{6}} = \frac{4\sqrt{18} + 12}{6} = \frac{12\sqrt{2} + 12}{6} = \\ &= \frac{2\sqrt{2}(\sqrt{2}+1)}{\cancel{2}} = 2(\sqrt{2}+1) \end{aligned}$$

$$\begin{aligned} 2) \quad \frac{4 + 4\sqrt{5}}{\sqrt{2}} - 2\sqrt{5} &= \frac{4(1+\sqrt{5})}{\sqrt{2}} \cdot \frac{\sqrt{2}}{\sqrt{2}} - 2\sqrt{5} \\ \frac{4\sqrt{2}(1+\sqrt{5})}{2} - 2\sqrt{5} &= \frac{4\sqrt{2} + 4\sqrt{10} - 4\sqrt{5}}{2} = \\ &= \frac{2\sqrt{2}(\sqrt{2} + \sqrt{10} - \sqrt{5})}{\cancel{2}} = 2(\sqrt{2} + \sqrt{10} - \sqrt{5}) \end{aligned}$$

oppure:  $\frac{4+4\sqrt{5}-2\sqrt{10}}{\sqrt{2}} \cdot \frac{\sqrt{2}}{\sqrt{2}} = \frac{4\sqrt{2}+4\sqrt{10}-2\sqrt{20}}{2} =$

$$\begin{aligned} &= \frac{4\sqrt{2} + 4\sqrt{10} - 4\sqrt{5}}{2} = \frac{2\sqrt{2}(\sqrt{2} + \sqrt{10} - \sqrt{5})}{\cancel{2}} = \\ &= 2(\sqrt{2} + \sqrt{10} - \sqrt{5}) \end{aligned}$$

$$3) \quad \frac{\cancel{10\sqrt{2}} - 4\sqrt{2} + 6\sqrt{2} - \cancel{10\sqrt{2}}}{2\sqrt{2}} = \frac{-36\sqrt{2}}{2\sqrt{2}} = -18$$

$$4) \frac{2}{\sqrt[3]{5^4}} = \frac{2}{5 \sqrt[3]{5}} \cdot \frac{\sqrt[3]{5^2}}{\sqrt[3]{5^2}} = \frac{2 \cdot \sqrt[3]{5^2}}{5 \cdot \sqrt[3]{5^3}} = \frac{2 \sqrt[3]{5^2}}{5^2}$$


---

$$5) \frac{1}{1+\sqrt{2}} \cdot \frac{1-\sqrt{2}}{1-\sqrt{2}} = \frac{1-\sqrt{2}}{-1} = \sqrt{2} - 1$$


---

$$6) \frac{2\sqrt{3}}{\sqrt{6}-2} - \frac{5\sqrt{6}}{\sqrt{2}-2\sqrt{3}} =$$

$$= \frac{2\sqrt{3}}{\sqrt{6}-2} \cdot \frac{\sqrt{6}+2}{\sqrt{6}+2} - \frac{5\sqrt{6}}{\sqrt{2}-2\sqrt{3}} \cdot \frac{\sqrt{2}+2\sqrt{3}}{\sqrt{2}+2\sqrt{3}} =$$

$$= \frac{2\sqrt{18} + 4\sqrt{3}}{6-4} - \frac{5\sqrt{12} + 10\sqrt{18}}{2-12} =$$

$$= \frac{6\sqrt{2} + 4\sqrt{3}}{2} \oplus \frac{10\sqrt{3} + 30\sqrt{2}}{\oplus 10} = \frac{\cancel{2}(3\sqrt{2} + 2\sqrt{3})}{\cancel{2}} + \frac{\cancel{10}(\sqrt{3} + 3\sqrt{2})}{\cancel{10}} =$$

$$= 3\sqrt{2} + 2\sqrt{3} + \sqrt{3} + 3\sqrt{2} = 6\sqrt{2} + 3\sqrt{3} = 3(2\sqrt{2} + \sqrt{3})$$